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All questions are worth 2 points unless otherwise indicated. 

The state insurance commissioner believes that the mean automobile insurance claim filed in his state exceeds $1,700. From the past, the standard deviation of all the insurance claims was $100. To test this claim, the agency has selected a random sample of 16 claims and found a sample mean equal to $1,733 and a sample standard deviation equal to $120. They plan to conduct the test using a 0.05 significance level.
Answer all questions below using the information provided above.
1) Which of the following is the correct null and alternative hypotheses?

a) Ho: ( > 1700 versus Ha: ( < 1700

b) Ho: ( = 1700 versus Ha: ( > 1733
c) Ho: ( < 1700 versus Ha: ( > 1700

d) Ho: 
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 <  1700 versus Ha: 
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> 1700

e) None of the above

2) Which is the correct sampling distribution for the statistic?

a) Normal with mean = 1700 and standard error = 100

b) Normal with mean = 1700 and standard error = 25

c) Normal with mean = 1733 and standard error = 120

d) Normal with mean = 1733 and standard error = 30

e) None of the above

3) Which of the following is the correct critical region for the test?

a) Reject Ho if  Zstat > 1.645, otherwise don’t

b) Reject Ho if  Zstat < -1.96 or if Zstat > 1.96, otherwise don’t

c) Reject Ho if  tstat > 1.7531, otherwise don’t

d) Reject Ho if  tstat < -2.1315 or if tstat > 2.1315, otherwise don’t

e) None of the above

4) Which of the following is the correct computed test statistic? (3 points)
a) Zstat  = 1.1
b) Zstat  = 1.32 
c) tstat  = 1.1 d) tstat  = 1.32 
e) None of the above

5) Which of the following is the correct decision for the test?

a) Reject Ho 

b) Do not Reject Ho 

c) Reject Ha 

d) Do not Reject Ha
6) Which of the following is the correct conclusion?

a) Have sufficient evidence that the population mean auto insurance claims exceeds $1700

b) Not sufficient evidence that the population mean auto insurance claims exceeds $1700

c) Have sufficient evidence that the population mean auto insurance claims does not exceed $1733

d) Not sufficient evidence that the population mean auto insurance claims does not exceed $1733

7) Which of the following is a decision error you may have committed?
a) Reject Ho when Ho is true  

b) Reject Ha when Ha is true  

c) Failing to Reject Ha when Ha is false

d) Failing to Reject Ho when Ho is false

e) No error

8) Which of the following is the computed p-value for the test? (3 points)
a) 0.0934
b) 0.1357 
c) 0.1868  
d) 0.4066
e) 0.8643    f) None of the above

9) If past information about the standard deviation of all the claims is not available, provide the critical value that you would have used to do this test. 
a) 1.645

b)  + 1.96 
c) 1.7531
d) 1.7459
e) + 2.1315
All questions are worth 2 points unless otherwise indicated. 

The state insurance commissioner believes that the mean automobile insurance claim filed in her state exceeds $1,800. From the past, the standard deviation of all the insurance claims was $200. To test this claim, the agency has selected a random sample of 25 claims and found a sample mean equal to $1,933 and a sample standard deviation equal to $210. They plan to conduct the test using a 0.05 significance level.

Answer all questions below using the information provided above.
1) Which of the following is the correct null and alternative hypotheses?

a) Ho: ( > 1800 versus Ha: ( < 1800

b) Ho: ( < 1800 versus Ha: ( > 1800

c) Ho: ( = 1800 versus Ha: ( > 1933

d) Ho: 
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 <  1800 versus Ha: 
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> 1800

e) None of the above

2) Which is the correct sampling distribution for the statistic?

a) Normal with mean = 1800 and standard error = 200

b) Normal with mean = 1933 and standard error = 210

c) Normal with mean = 1800 and standard error = 40
d) Normal with mean = 1933 and standard error = 42
e) None of the above

3) Which of the following is the correct critical region for the test?

a) Reject Ho if  Zstat < -1.96 or if Zstat > 1.96, otherwise don’t

b) Reject Ho if  tstat > 1.7109, otherwise don’t

c) Reject Ho if  Zstat > 1.645, otherwise don’t

d) Reject Ho if  tstat < -2.0639 or if tstat > 2.0639, otherwise don’t

e) None of the above

4) Which of the following is the correct computed test statistic? (3 points)
a) Zstat  = 3.167
b) Zstat  = 3.325 
c) tstat  = 3.167         d) tstat  = 3.325 
e) None of the above

5) Which of the following is the correct decision for the test?

a) Reject Ho 

b) Do not Reject Ho 

c) Reject Ha 

d) Do not Reject Ha
6) Which of the following is the correct conclusion?

a) Have sufficient evidence that the population mean auto insurance claims exceeds $1800

b) Not sufficient evidence that the population mean auto insurance claims exceeds $1800

c) Have sufficient evidence that the population mean auto insurance claims does not exceed $1933

d) Not sufficient evidence that the population mean auto insurance claims does not exceed $1933

7) Which of the following is a decision error you may have committed?

a) Reject Ho when Ho is true  

b) Reject Ha when Ha is true  

c) Failing to Reject Ha when Ha is false

d) Failing to Reject Ho when Ho is false

e) No error

8) Which of the following is the computed p-value for the test? (3 points)
a)  0.00076      b) 0.001      c) 0.002  
d) 0.4990
e) 0.9980    f) None of the above

9) If past information about the standard deviation of all the claims is not available, provide the critical value that you would have used to do this test. 
a) 1.645

b)  + 1.96 
c) 1.7109
d) 1.7081
e) + 2.0639
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